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Date: 00-00-0000
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1. Answer by writing ‘T’ of the statement is true and ‘F’ if the answer is false
in the space provided: 10

a) ‘Titas’ is a variety of Cheena (Proso millet).

b) Seed can always be germinated when it is viable.

¢) Vigna mungo is the scientific name of mungbean.

d) Soybean contains more protein than oil.

e) Little leaf of brinjal is caused by a nematode.

f) Maize is a cross pollinated crap.

g) Zinc deficiency occurs inyoung leaves.

h) Photosynthesis efficiency;is more in C; plant than C4 plant.
1) Pink borer is a pest of sugarcane.

J) Xylem transport water from root to plant body.

2. Fill in the blanks with appropriate words: 10
a) The chromosome number of rice is
b) ‘Satabdi’ is a variety of
¢) Aphid is a vector of

d) Positively charged ion is called

e) IS an enzyme which hydrolyzes protein into amino acids.
f) ELISA denotes
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g) Insect’s body is divided into parts viz.

h) In submerged soil the available form of Nitrogen is

1) 100 kg paddy gives kg rice.

J) Loose smut of wheat is caused by

and

3. Choice the best answer and by putting (v') mark.
a) Which one is the most serious pest of sunflower?
I. Parrot ii. leaf hopper
ii. fungi V. mites

b) ‘Hyprochola’ was released by

i. BARI ii. ACI

Ii. BRAC Ii. BINA
¢) Shoot and fruit borer is a pest of

I. papaya I-brinjal

lii. guava iv. Mango

d) Error d.f. is minimum in

1.CRD ii. LSD
ii. RBD iv. RCBD
e) Which one is not S-fertilizer?
I. Gypsum ii. Ammonium sulphate
Iii. Potassium sulphate iv. Copper sulphate

4. Write down the scientific names of the following:
a) Maize:
b) Cotton:
c) Papaya:
d) Mutha:
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e) Bottle gourd:
f) Radish:
g) Tomato:
h) Onion:

1) Lady’s finger:
J) Jute:

5. Write down 3 varieties, sowing time, seed rate and yields of the following

crops. 5

Crop Variety Sowing time Seedrate” Yield

Aman rice

Wheat

Grasspea

mustard

6. Write down the definition of the following words: 2x7=14
a) Variety:
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b) Hybridization:

c¢) Crop rotation:

d) Transgenic crop:

e) Tissue culture:

f) Pathogenesis:

g) IPM:
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7. Calculate the amount of Sevin 50WP required to prepare 10 litre of 0.01

spray materials. 4

8. Calculate the amount of N, P and K for 0.5 ha of wheat field when the
application rate of Urea, TSP and MP are 200 kg/ha, 150 kg/ha and 180 kg/ha,

respectively. 4

Mirza Hasanuzzaman, SAU



9. Give a layout plan for an experimental field with 4 varieties and 2 weeding
replicated 4 times. Also give the ANOVA. 4

10. Translate into English. 4

TIENTHT Q41T AP 2 A1 | AR &fe I7F AT 9,83, 98,000 (NGF LT 417
Teo 237/ 331 AT B8 40T 2 WG OF (7 | 9§ AT o S[1 2097 (3, [T G1eaT
VG P77 &7 5,58 G/(=., I IREACHT T i 0,8¢ G/cT!
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11. Elaborate the following Acronyms:
BANSDOC =

CGIAR =

HRC =

AVRDC =

IHTA =

ICRISAT =

WRC =

NARS =

IFAD =

ISTA =
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